Examination: M.S.W. Social Work

Bookmark [~
By selling a bicycle for Rs 2,850, a shopkeeper gains 14%. If the profit is reduced to 8%, then the
selling price will be:
c 2700

© 2800
€ 3000
© 2600

Bookmark [~
“Worth and dignity of man” the term closely related to ----------------—---
C Ethics of social work

€ Nature of social work
€ Values of social work
¢ Philosophy of social work

Bookmark [~
In a family, there are sixmembers A, B, C, D, E and F. A and B are a married couple, A being the
male member. D is the only son of C, who is the brother of A. E is the sister of D. B is the daughter-in-
law of F, whose husband has died. How is E related to C ?

C Sister
€ Cousin
€ Mother
€ Daughter

Bookmark [~
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Bookmark [~
Acid rainis formed due to combination of the following pair of gases
€ Oxygen and nitrous oxide

€ Methane and sulpher dioxide
€ Carbon dioxide and sulpher dioxide
€ Methane and ozone




Bookmark [~
Pointing to a person, a man said to a woman, "His mother is the only daughter of your father." How
was the woman related to the person?

¢ Daughter
€ Mother
C Aunt

c Wife

Bookmark [~
Sam ranked 9th from the top and 38th from the bottom in a class. How many students are there in the

Bookmark [~
Who wrote the song "Sare jahan se acha" ?
€ Bunkim Chatterji

€ Rabindranath Tagore
¢ DSarath Chandra
€ Muhammad Igbal

Bookmark [
If ROSE is coded as 6821, CHAIR is coded as 73456 and PREACH is coded as 961473, what will
be the code for SEARCH?

€ 214673
C 246173
€ 214763
C 216473

Bookmark [~
Who says that the Social group work is a psycho social process?
€ Hamilton

€ Kinduga
€ Konapka
€ Trecker

Bookmark [~
If BAT= 40, AT= 20 then CAT="?

C 43
c 60
c 80
c 50




Bookmark [~
If South-East becomes North, North-East becomes West and so on. What will West become?
€ North-West

€ North-East
€ South-West

€ South-East

Bookmark [~
Two bus tickets from city A to B and three tickets from city A to C cost Rs. 77 but three tickets from
city A to B and two tickets from city A to C cost Rs. 73. What are the fares for cities B and C from A?

€ Rs.4,Rs. 23

€ Rs.17,Rs. 13
€ Rs.13,Rs. 17
€ Rs.15,Rs. 14

Bookmark [~
Identify the adverb in the following sentence:
We started early in order to see the sunrise.
C to see
C early
C started

C inorder

Bookmark [
Who is the author of Panchtantra ?

€ Roy Mukeriji

€ Sarath Chandra
€ Chetan Bagath
€ Vishnu Sharma

Bookmark [~
-------------- is a system of social relationship.
 Association

€ Society
c Group
€ Community

Bookmark [
What is the unit of pressure?
C Tesla

C Watt
¢ Pascal
C Bp




Bookmark [~

Radcliff line' is the boundary demarcation line between
€ India and China

€ India and Pakistan
€ India and Bangladesh
€ India and Nepal

Bookmark [~
Satements: All dogs are tall, All cats are tall.
Conclusion:
L.All dogs are cat
Il. All cats are dogs

€ If only conclusion Il follows
C If either | or Il follows

€ If only conclusion | follows
C If neither I nor Il follows

Bookmark [
Which is the best statement to achieve success in life ?

€ The person should be honest.

€ The person should be sincere and hard working.
€ The person should be well educated.

€ The person should be rich and prosperous.

Bookmark [~
In the following question, the first two words (given in italics) have a definite relationship. Choose
one wvord out of the given four altematives which will fill the blank space and showthe same
relationship with the third word as between the first two.

Orange is to Peel as Toothisto ......... VTP
€ Joints

€ Brush
¢ Enamel
c Gums

Bookmark [~
In an examination 80% candidates passed in English and 85% candidates passed in Mathematics. If
73% candidates passed in both these subjects, then what per cent of candidates failed in both the
subjects?
c 13
c8
c 15

c 10




Bookmark [~
When and where the 20th Common Wealth Games were held ?
€ Birmingham in 2014

€ Gold Coastin2018
€ Glasgowin 2014
€ New Delhi in2010

Bookmark [~
If you write down all the numbers from 1 to 100, then how many times do you write 3?

c 18
c 1
c 20
c21

Bookmark [~
Choose the missing term:FLP, INS,LPV, ?

c SYZ

c ORY
c VXZ
C UXZ

Bookmark [~
Who among the following is the present Chairman of ISRO?
€ Satish Dawan

€ Mayilsamy Annadurai
¢ Madhavan Nair
¢ Kailasavadivoo Sivan

Bookmark [~
If Priya was selected, she a good surgeon.

€ can make

€ would have made
C will make

€ would make

Bookmark [~
Statement: Among all the articles, Prices of laptops show the highest decline from June 2017 to
December 2017.
Assumptions:
|. Comparative prices of all articles were available from June 2017 to December 2017.
Il. The prices laptops were higher in the first 6 months than the last 6 months.

€ If only assumption | is implicit
C If only assumption Ilis implicit
C Ifboth Iand llare implicit
€ If neither I nor Il is implicit




Bookmark [~
What is the name of the disease in man arising out of Vitamin B1 deficiency?
€ Gingivitis
€ Scurvy
C Beriberi
€ Pellagra

Bookmark [~
There are six persons A. B, C, D, E and F. C is the sister of F. B is the brother of E's husband. D is
the father of A and grandfather of F. There are two fathers, three brothers and a mother in the group.
Who is the mother?

cC
cA
CE
cB

Bookmark [~
When the National Family Planning programme was re designated as National Family Welfare
Programme?

c 1997
C 1977
© 1967

c 1987

Bookmark [~
Social legislations is an enactment of ---------------
€ Planning
C Law
€ Policy
C Act

Bookmark [~
Find the missing number in the series?

4,182,100, 180, 294, 448
c 60
c 58
c 50
c 48

Bookmark [~
When was the 'Quit India Movement' Launched by Mohandas Karamchand Gandhi?
€ 1939

€ 1946
€ 1940
€ 1942




Bookmark [~
What was the greatest contribution of Ishwar Chand Vidyasagar in the social reforms in India?
C Established the Brahma Samaj

€ He ensured the widow's marriage and girl’s education.
€ Help in the abolition of Sati Pratha.
C Adopted few villagers to relocate them from Andhra Pradesh to Bengal for better life.

Bookmark [~
Human Rights Commission in India was constituted on ----------------—--—-

24 October 1995
€ 1th December 1992
10t December 1995
12t October 1992

Bookmark [~
13,35,57,79,911,7?
c 1113
c 1311
c 1315
c 1112

Bookmark [~
The first five year plan was passed --—----—-- in India.
C 1961

© 1953
C 1951
€ 1952

Bookmark [~
Choose the correct meaning of the italicized idiom.
The father was right in giving a piece of his mind to the son.
€ Speaking cheerfully

€ Speaking sadly
€ Speaking sharply
C Speaking kindly

Bookmark [~
If A and B together can complete a piece of work in 15 days and B alone in 20 days, in how many
days can A alone complete the work?

c 50
c 40
c 30
c 60




Bookmark [~
'Dakshin Gangothri ' is situated in
¢ Andamanislands

€ Himalayas
c K2
€ Antartica

Bookmark [~
P is the brother of Q and R. S is R's mother. T is P's father. Which of the following statements cannot
be definitely true?

€ S is P's mother
C Qis T'sson

€ Tis Q's father
€ Pis S'sson

Bookmark [~
------------ wrote the Social diagnosis, which is treated as first book in Social work profession.
€ Friedlander. AW

c Wright, H
€ Mary Richmond
€ Cohen, N.E

Bookmark [~
Who introduced the basic models of community organization?
€ Paulo Freire

€ Thudipara.Jaccob.Z
€ Johan.L
¢ Jack Rothman

Bookmark [~
Which is the only hobby recognized by the United Nations ?
€ Photography
€ Cycling
€ Gardening
€ Ham Radio

Bookmark [~
Ais B's sister. C is B's mother. D is C's father. E is D's mother. Then, how is A related to D?

€ Granddaughter
€ Grandmother
¢ Daughter

€ Grandfather




Bookmark [~
Displacement of emotions and feelings to another personis called as ------
¢ Counter transference

¢ Transference
€ Resistance
€ Sustaining

Bookmark [~
.Name the Indian states with the highest and lowest sex ratio according to 2011 census.
€ Kerala and Chhattisgarh

¢ Uttar Pradesh and Odisha
€ Kerala and Haryana
¢ Goa and Kerala

Bookmark [~
Two cars start from the opposite places of a main road, 150 km apart. First car runs for 25 km and
takes a right turn and then runs 15 km. It then turns left and then runs for another 25 km and then takes
the direction back to reach the main road. In the mean time, due to minor break down the other car
has run only 35 km along the main road. What would be the distance between two cars at this point?

€ 65km
c 80 km
€ 75km
C 85km

Bookmark [
JLN:SQO:: PRT:?
c uyw
© YWU
c utv
c VUT

Bookmark [~
Choose the correct meaning to the italicized idiom.
Vijay does not see eye to eye with me in this matter.
€ To have the same eyesight

€ To obtain suitable punishment
€ To have same opinion
€ To give a correct decision

Bookmark [

In 2017 the unemployment rate in India is
C 2.9%.

c  45%
c  58%
c 3.6%




Bookmark [~
Which among the following is not a dimension of personality?
€  extroversion/introversion,

€ emotional stability
¢ Conscientiousness
€ perception

Bookmark [~
National Environment Policy (NEP) in India was adopted in---------------—--—-
© 2009

© 2003
€ 2006
€ 1995

Bookmark [
What is the chemical name of Tear Gas ?

€ Salicilic Acid

€ Tri Nitro Toluene

€ Aqua Regia

€ Chloroacetophenone

Bookmark [~
Find the rate of interest if the amount after 2 years of simple interest on a capital of Rs1200 is
Rs1440.

C 1%
C 9%
C 8%
C 10%

Bookmark [~
When did Pondicherry became a part of Indian Union legally ?
c 1947
c 1950
C 1954
c 1962

Bookmark [~
The 2017 Global Hunger Index (GHI) Report ranked India ------------—----country out of 118 countries
with a serious hunger situation.
€ 101st
€ 45th
c  58th

€ 97th




Bookmark [~
National Policy for Persons with Disability was adopted in India in the year
c 2004

€ 2008
© 2010
© 2006

Bookmark [~
People use rubber soles in their shoes because :

€ Rubber is more porous than leather.
€ They are durable.

€ They are fashionable.

€ They produce less sound.

Bookmark [~
The Girl Child Protection Scheme was launched in
c 1991
C 1995
c 1989
c 1987

Bookmark [~
Based on the information given, answer the below question.
1.A,B,C,D,E and F are travelling in a bus.
2. There are two reporters, two mechanics, one photographer and one writer in the group.
3. Photographer A is married to D who is a reporter.
4. The writer is married to B who is of the same profession as that of F.
5. A,B,C,D are two married couples and no one in this belong to the same profession.
6. F is the brother of C.

Which of the following is the pair of mechanics?
c AF

c BF
¢ Cannot be determined
c CE

Bookmark [~
Who established Parthna Samaj

€ Iswar Chandra Vidya Sagar
€ Durozio

€ Athmaram Panduranga

€ Davidhare




Bookmark [~
Complete the sequence: 4,7,12,19, 28, ?
c 39
c 36
c 40
c 30
Bookmark [~

In a row of boys, if A who is 10th from the left and B who is 9th from the right interchanges their
positions, A becomes 15th from the left. How many boys are there in the row?

c 23
c 3
c 28
c 27

Bookmark [~
The average temperature for Wednesday, Thursday and Friday was 40 Degree Celsius. The average
for Thursday, Friday and Saturday was 41 degree celsius. If temperature on Saturday was 42 Degree
celsius what was the temperature on Wednesday?

c 39
c 38
C 44
c 41

Bookmark [~
Deficiency of Vitamin D givesriseto ... ...
C Arthritis

€ Rickets
¢ Rheumatism
C Hernia

Bookmark [~
The Rourkela Steel Plant in Odisha was built with the collaboration of ?
c USSR

¢ Great Britain
€ France
€ Germany




Bookmark [~
Study the following information carefully and answer the question below it:

Aasha, Bhuvnesh,Charan, Danesh, Ekta, Farhan, Ganesh and Himesh are sitting around a circle,
facing the centre. Aasha sits fourth to the right of Himesh while second to the left of Farhan. Charanis
not the neighbour of Farhan and Bhuvnesh. Danesh sits third to the right of Charan. Himesh never sits
next to Ganesh.

Three of the following are alike in a certain way based on their positions in the seating arrangement
and so form a group. Which is the one that does not belong to that group?

€ DaneshCharan
€ Himesh Farhan
€ BhuvneshDanesh
€ Ganesh Ekta

Bookmark [~
Choose the best synonym of the italicized word.
The security arrangements made for the visiting dignitary were impeccable.

C flawless
€ grand

C tight

C elaborate

Bookmark [~
A man complete a journey in 10 hours. He travels first half of the journey at the rate of 21 km/hr and
second half at the rate of 24 km/hr. Find the total journey in km.

C 224
c 220
c 230
c 250

Bookmark [~

Which among following states has first introduced mid-day meal scheme for the school going children
?

c Maharashtra

c Karnataka

€ Tamilnadu

c Andhra Pradesh

Bookmark [~
Bunch: Key :
€ Hound : Pack
€ Team : Competition
€ Bouquet : Flower
C Beechive : Bee




Bookmark [~
According to 2011 Census of India, the SC and ST population is
€ 16.6 % and 8.6 %, respectively
€ 21 % and 8 % respectively
c  18.5 % and 7.6 % respectively
C  19.5% and 9.6% respectively

Bookmark [~
----------- is the highest civilian award in India.
€ Bharat Ratna

¢ Padmashri
¢ Veer Chakra
¢ Bharat Bhushan

Bookmark [
When was the first school of social work started in India?

€ 1936
€ 1945
€ 1928
€ 1938

Bookmark [~
“Psychology is science of consciousness” stated by -------------
€ William Mc Dougall

© Max Wertheimer
¢ Edward L.Thorndike
¢ William James

Bookmark [~
Panchayati Raj Institutions became constitutional bodies under
C Article 12 of the constitution

¢ Article 40 of the constitution
¢ The 64th Amendment Bill of 1989
€ The 73rd amendments (1992)

Bookmark [~
According to the National Policy for Children,2013, every person below the age of ---------—---—--- years
as child
c 15
C 14
c 18




Bookmark [~
Only after food has been dried
€ it should be stored for later consumption

€ should it be stored for later consumption
€ thatis should be stored for later consumption
€ should be stored for later consumption

Bookmark [~
During one’s first few months in a new culture, one should learn the manners that are customary and

€ the language that is spoken there
€ the language that is speaking

€ to be speaking language

C the spoken there language

Bookmark [~
Study the following information carefully and answer the question below it

(i) There is a group of five persons- A, B, C, D and E

(ii) One of them is manual scavenger, one is sweeper, one is watchman, one is human scarecrow and
one is grave-digger

(iii) Three of them — A, C and grave-digger prefer tea to coffee and two of them — B and the watchman
prefer coffee to tea

(iv) The human scarecrow and D and A are friends to one another but two of these prefer coffee to
tea.

(v) The manual scavenger is C’s brother

Who is a sweeper?
CE
cA
cC

cD

Bookmark [~
A hallis 15 m long and 12 m broad.If the sum of the areas of the floor and the ceiling is equal to the
sum of the areas of four walls, the volume of the hall is:

€ 800
© 1200
© 1400
© 1000

Bookmark [
If A and B are in the ratio 3:4, and B and C in the ratio 12:13, then A and C will be in the ratio

C 36:13
C 9:13
c 3:13
c 13:09




Bookmark [~
A woman introduces a man as the son of the brother of her mother. How is the man, related to the

¢ Uncle to Grandson
¢ Cousin

Bookmark ™
Who was known as Iron man of India?
¢ Jawaharlal Nehru

¢ Sardar Vallabhbhai Patel
€ Subhash Chandra Bose
¢ Govind Ballabh Pant

Bookmark [~
A tailor had a number of shirt pieces to cut from a roll of fabric. He cut each roll of equal length into 10
pieces. He cut at the rate of 45 cuts a minute. How many rolls would be cut in 24 minutes?

c 32rolls
€ 108 rolls
C 54 rolls
€ 120 rolls

Bookmark [~
A boat having a length 3 m and breadth 2 m is floating on a lake. The boat sinks by 1 cm when a man
gets onit. The mass of the maniis:

€ 80kg
€ 60kg
C 32kg
C 72kg

Bookmark [~

One morning after sunrise, Suresh was standing facing a pole. The shadow of the pole fell exactly to
his right. To which direction was he facing?

€ South
C West
€ Data is inadequate
C East

Bookmark [~
Which year the Elizabethan poor law, was passed in England?
c 1861

C 1661
© 1701
© 1601




Bookmark [~
Human behaviour is a complex interplay of components viz.
€ Emotions, reactions, adoption and adjustments

€ Actions, cognitions and emotions.
€ Actions, reactions and emotions
¢ Cognitions, emotions, actions and reactions

Bookmark [~
Swami Vivekananda’s birthday is celebrated as —----------

€ Students day

€ National youth day

C International youth day
€ Freedom day

Bookmark [~
Prenatal period is -------------—- in human life span

€ 270 days
€ 300 days
€ 280 days
€ 290 days

Bookmark [~
How many Schedules are there in the Indian Constitution ?

c 10
c 14
c 12
c8

Bookmark [~
Ajit has a certain average for 9 innings in the tenth innings, he scores 100 runs thereby increasing his
average by 8 runs. His new average is:

c21
c 32
c 20
c 28

Bookmark [~
Study the following information carefully and answer the question below it

In a family, Isha is the granddaughter of Asha. Deepa is the mother of Hansa. Charan is the son of
Anand. Radha is the mother oflsha. Deepa is the sister of Vinod and Charan. Nagesh has two
children, Gita and Hansa. Emesh is the only grandson in the family. Charan is not married. Radha is
the daughter-in-law of Anand.

Who is the daughter of Anand?
C Gita
€ Deepa
C Isha
€ Hansa




Bookmark [~
National Mental Health Policy was adopted in the year ---------------=---—--
c 2014

c 2010
€ 2005
c 2017

Bookmark [~
Which planet is known as Red planet ?

€ Venus
€ Pluto
€ Jupiter
c Mars

Bookmark [~
Choose the best antonym of the italicized word.
Keerthi did not like her husband being obsequious to his boss.
C courteous
€ defiant
€ indifferent
C gentle

Bookmark [~
Kailash Satyarthi was awarded Nobel prize for his activities related to

¢ Child labour
€ Water sanitation
€ Environment

c Women




